€520 # DNIMVIA 740 1 8DVd $0/2/8 ALVA

WO €Y ¥31V3H X0019 LNV1000 INIONT €0519-D ‘NOISIAHY
-MHAIA dHAOTdXH

Y0019
3NION3 OL E
ONISNOH
1VISONHIHL OL

D dN1OID



EXPLODED VIEW: ENGINE COOLANT BLOCK HEATER 4.3L GM

DRAWING #: 0E2352

APPLICABLE TO:
ITEM PART# QTY.  DESCRIPTION

1 0C4905 1 BARBED EL 45 FITTING

2 057822 2 CLAMP HOSE #8 .53-1.00

3 077043E 1 CONDUIT FLEX 1" BLACK (15” LG)

4 050967 1 HOSE 5/8 ID RIA 250F (46” LG)

5 0A6283 1 HOSE PREFORMED BLOCK HEATER

6 057822 2 CLAMP HOSE #8 .53-1.00

7 0C4905 1 BARBED EL 45 3/8NPT X 5/80D

8 042568 4 SCREW HHC M6-1.0 X 20 G8.8

9 022473 4 WASHER FLAT 1/4-M6 ZINC

10 084918A 1 HEATER BLOCK 1000W 120V
*084918B 1 HEATER BLOCK 1000W 240V

084918G 1 HEATER BLOCK 1500W 120V

* 084918H 1 HEATER BLOCK 1500W 240V

1 084427 1 BRACKET HEATER W/WELDNUTS

12 022097 4 WASHER LOCK M6-1/4

13 049813 2 NUT HEX M6 X 1.0 G8 YEL CHR

14 055934D 1 CLAMP VINYL 1.06 X .406 Z (NOT SHOWN)

15 077043A 1 CONDUIT FLEX .38 ID (42” LG) (NOT SHOWN) (USED ON HEATER CORD)

16 062303 1 ADAPTOR 1/4" NPT TO 3/8" NPT

REVISION: G-6150-B

DATE: 8/2/05

* USED ON 50HZ VOLTAGE GENERATORS ONLY.

** USED ON NATURAL GAS & L/P VAPOR UNITS ONLY.

GROUP C

PAGE2OF 2



